Problem 6-5 solution
Eqn of state: (P+b)v = RT

From Eq. (6-16) (%), = T(2%5), = 0 = ¢, =c¢,(T). Next, cp = ¢, +T(98) (2%), = ¢, + R

du = cydT + [T(%)U—P]d% u = uo—l—f;;dT cv—&—f;; dv [T(g—P)U—P] = wug —l—f;;dT ¢y +b(v — ),
ds = <dT — (22) ,dP, = s = so+ [pdl %~ [ dP (3%), = so+[pdl %+ Rln 2,
dh = cpdl + [v—T (%) ,]dP h = ho+ [pdT cp+ [}, dP [U—T(g—;)P] = ho+[pdT e,

Need ¢,(T) to determine u, s and h.

Problem 6-16 solution

I gvi)Lnow eo(T,0), (P57), and P(T,v) = we know B = L (82) 5. & = =3 (5p) 5 and cp = ¢, + &I,
u = uo+ [ dT e, + [} dv [T(58), - P],
s = so+ [ dT % — [ AP (85) 1,
b= ho+ [ dT cp+ [5 dP [v=T(3),]

(b)

If we know P(T,v) we can find (%)M



